WORD PROBLEM

Q1) A stadium has 20 rows of seats with 50 seats in each row. How many
seats are there in total?

Q2) If you have 16 packs of 24 crayons each, how many crayons do you
have in total?

Q3) Aclassroom has 9 tables, and each table has 6 chairs. How many
chairs are there in the classroom?

Q4) A cinema has 18 rows of seats with 20 seats in each row. How many
seats are there in total?

Q5) If a book costs $15 and you buy 14 books, how much will you spend
in total?

Q6) A baker uses 5 eggs for each cake. How many eggs are needed to
bake 24 cakes?

Q7) A printer prints 120 pages per hour. How many pages can it print in
5 hours?

Q8) A school bus has 18 seats in 6 rows. How many seats are there
in total?

Q9) A factory packs 250 boxes every day. How many boxes will it pack
in 10 days?
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Q10) If a car travels 65 miles per hour, how many miles will it travel in
6 hours?

Q11) Alibrary has 12 shelves with 90 books on each shelf. How many
books are there in total?

Q12) If you buy 30 packs of pens and each pack contains 12 pens, how
many pens do you have in total?
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WORD PROBLEM

1) 20 x 50 = 1000 seats
2) 16 x 24 = 384 crayons
3) 9 x 6 =54 chairs
4)18 x 20 = 360 seats
5)15 x 14 = $210

6)5 x 24 = 120 eggs
7)120 x 5 = 600 pages
8)18 x 6 = 108 seats

9) 250 x 10 = 2500 boxes
10) 65 x 6 = 390 miles

11)12 x 90 = 1080 books
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12) 30 x 12 = 360 pens
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